Inorganic Chemistry 1
QUANTUM THEORY
DE BROGLIE’S THEORY

Problem-solving Example 22

D Cleulate He velocity of e cetrm for Hhe frst by

bt af Al'd’(o/‘ﬂ atom . LJAq/ ’s 7%¢ wqu/vﬂ of his
electron ?
6) Fov Cﬂh/ar;-fdh, calculate 7he waveleng?h of a ball, "’f'j“
.20‘!(7 which Fravelled at a /,(oqy a/ 3oms-’.
Given: Q, = 0:529 ﬁ°, m, = 9-//0x/o_3'éj
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Solution :

a) goér'!/o&/u/qﬁ E

nb
mvr = 'nﬁ or UV =
2 27 Q27Tm7n

i
At first Bobr ovbit - n=(1; 1, =V =4 =(0-529x0 /™

Thes : v - ({6626 107 3% T )
27 (9 t1ox 15 ) (v $29x10” “m)
= .?,/J’!)(/o‘ms-’ (Aru')

From 2De 8/':7//'63' TAea:r] E
A = A - (6-624)(/0-3*‘7})
mv (7 - //ox /O. 3’9){2 - /&9)(/06 m(I)
= 3.32% x/oplom

= 3.324 A (Posd

é) FOV #e éq//,' m = 200 “0'267/. vV = 3007:—,

N e F (663 x 16" 2% s )
mv (0-29)(30/»:—')

-3¢

A = /-/x10 o no inskumest o
_ ~2¢ o defect Such a ver
= [(-/x /0 A Small > . “

¥ Wave lengtl, properfes ric itpar Fant dﬂglf
Fhe mg.r /fJ{)»Q// anrd #qd//iy at Ve(] -r/ce{v-
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